








&ziA -1gt2+(vosina)t  = 0

-5

t(-1 gt + v. sin a) zz 0-
2

t = 0, 2vo  sin CL

g

= v ‘sin 2 01n
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dx = x

dt

dx = dt-
X

Inx=  t t c ,

IdO t =0,x  = I

&pdu I n  1 =o+c,

0 =cl

. Inx =t

et  = x

dy = -x2

x

dy  = -x2  dt

= -e*‘dt

Y = -1 e2t  + C
-T 2

t = 0, y = 3

3 = -1%  + c,

c,  = 7

2

:. Y = -% e2t  +  7
z
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2.1.2 , -aolm~w,%laPrn~~n%o6~~1~~~~~~~1~~  (Parametric equation in analytic

geometry)
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)X
2lla

yLl 2.1.1

n"aee;,sd  2.1.8 Px = t2,  y = t3 L?hWBJnl5W15lbU~)3n"U09  semicubical parrrbola 6.~

SnJ  2 . 1 . 2PI

)X
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vYa”ae&  2.1.10 x = 2t + 3, y = 4t2  - 9, - 03  < t < 03  wm=wnian+i&m

y - x2 = 4t2 - 9 -(2t + 3y

= 4t2  - 9 -(4Q  + 12t + 9)

= 4t2-9-4t2-12t-9

= -12t - 18

mn x = 2t + 3

t  = x - 3

:.y-x2  = -12( “)  - 18
2

= -6x + 18 18

=  -6x

.  x2-6x-y =  0
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2.3.2 “l~~~LanlFl~;t;~~~~l~l~  (Multiplication of a vector by a scalar)

i7-i  m aOuwnlRl4

1U-l36?‘LI  A’ = (a,, a,) &?  WWJslallClJ  m blat 2 $0

mA = da,,  a2)

= (ma,, ma2)

rni  bllPaltl = lrnL1

= (ma,)2  + (ma,?

= J;;;iJa12  + az2

= Irnl  1.4’1

‘. lmil /ml lil

!I4  3 06  A = (a,, a2, aJ &~~~~~9JEl~  m LLAo”  Z 60

mA  = m (a,, a2,  a3)

z (ma,, ma2,  ma-J

= (ma1)2  + (ma2)*+  (maj)2

=h7J a,2  + a22  + a,2

= /ml A’1

. . lrnZ1 = Iml  IT;1

2.3.2 L3Klfl  -A 41 %RiT  (negative) 9109  A

MA  213 101















9ltl~d  2.3.6 PCk?il
- -.  +

‘ 1 = xii + y,j  + z,k
+ + +

t2 = x2i  + y2j  + zzk

R = ;; - ;,

= (x2-x,)i  + (y2-Y,);+  (zz-zl)c mt3Pl

a .+  -.  -

I.A+B=B+A

np-m=&~  (Commutative law)
4 -4 -+* ..+

2. A + (B+C) = (A+B) + C

i%Jnl3%@M~  (Associative law)
- - -+

3. (m+n)A  = mA  + nA

1

ngn7anmm
-+  --. - -9

4. m(A+B) = mA  + mB (Distributive law)
-a -v -

5. 0 + A = A lofE?nWsii (Identity)

6. A + (-A) = ; ~‘N?7~%  (Inverse)

108
- -
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--a * 4-b -a...-.-. -,-..+
1. \$A = i + 2j - 3k, B = 2i - j + k, C = -i + j - k ~3~7

.+ 4  +
n. (A.B)C

--++
ll.  A(B.C)

-**  d
‘tl.  A.B x  C

+ -. +
9. A x (B x C)

‘3.  (Ax&X
- -. +

Q. A x (B i- C)

-4  +  -a

A =2i-jtk
+ -. .-*

B = -i + 2j + 2k
- -*
C = i t k

B(l,Ll),  W-1,3), D(4,3,-7)
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i j iT
*  -9
v1xv2 = 3 2 4

1 3 -1

= i(-2-12) - j(-3-4) + k(9-2)

-14(x-4) + 7(y-3)  + 7(z-I) = 0

2(x-4) - (y-3) - (z-l) = 0

2x-8-y+3-z+l  =O

2x-y - z -4 = 0 mm

=  3 - 8 - 3

mJmz3
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